
Part Name Materail Quantites Manufacture Method

Foot_V-S;ot_IPrunes_V2.0 PLA 4 3D Printed
Part10^V-Slot Aluminum_Stand_V2.0 PLA 2 3D Printed
Pod_V2.0_XYZ PLA 10 3D Printed
PowerSocketHolder_V2.0 PLA 1 3D Printed
Tank_RightAngle PLA 2 3D Printed
HindgeBracketBaseFemale_V2.0 PLA 2 3D Printed
3D_Printed_SpacerManifold PLA 7 3D Printed
Electonic_BoardSpacer_V2.0 PLA 4 3D Printed
ElectronicsCase_V2.0 PLA 1 3D Printed
HindgeBracketBase_V2.0 PLA 2 3D Printed
SpacerRelay_V2.0. PLA 1 3D Printed
TankPad_V2.0 PLA 4 3D Printed
TopWaterHeadFixture_V2.0 PLA 1 3D Printed

V-SLOT Extrusion_20x20x160 Aluminuim 3 Supplier Machined
V-SLOT Extrusion_20x20x1000 Aluminuim 2 Supplier Machined
V-SLOT Extrusion_20x20x300 Aluminuim 2 Supplier Machined

90 Degree Cast Corner Aluminuim 6 Out Sourced Component

90 Degree Joining Plate Aluminuim 4 Out Sourced Component
90 Degree Top Joining Plate Aluminuim 2 Out Sourced Component

Inside Hidden Corner Aluminuim 4 Out Sourced Component

BackPlate_V3.0 Perpex/Acrylic 1 Laser Cut
FrountPlate_V3.0 Perpex/Acrylic 1 Laser Cut
Fish_Tank_V2.0 Perpex/Acrylic 1 Laser Cut
Gasket Silicon Sheet 20 Laser Cut
Fish_Tank_Sides_V2.0 Perpex/Acrylic 2 Laser Cut
Fish_Tank_SidesSmall_V2.0 Perpex/Acrylic 2 Laser Cut

1/8" ID In-line Hosebarb SnapQuik™ Acetal 20 Out Sourced Component
1/8" ID In-line Hosebarb SnapQuik™ Acetal 20 Out Sourced Component
8mm ID x 11mm OD Clear PVC Tubing Pipe Hose PVC 2 Meters Out Sourced Component
Rubber O-Rings

Raspbery Pi Zero W/Pi 3 Model B+ N/A 1 Out Sourced Component
4 Channel Relay 3.3v/5v N/A 1 Out Sourced Component

https://ooznest.co.uk/product/90-degree-cast-corner/
https://ooznest.co.uk/product/90-degree-joining-plate/
https://ooznest.co.uk/product/inside-hidden-corner/


IEC 320 C14 Male 3P Screw Type Power Cord Receptacle N/A 1 Out Sourced Component
Custom Pi Hat Easst_EDA_File/Optional N/A 1 Out Sourced Component
Multicolored Dupont Wire_Female to Female N/A

Decdeal 600L/H 8W Submersible Water Pump N/A 1 Out Sourced Component
Eheim Pickup 60 Internal Filter N/A 1 Out Sourced Component

81W/108W Waterproof IP65 Led Grow Light Bar N/A 1 Out Sourced Component

M4 A2 ALLEN BOLT 20mm STAINLESS STEEL 50 Out Sourced Component
M4 A2 ALLEN BOLT 40mm STAINLESS STEEL 50 Out Sourced Component
HEXAGON FULL NUTS A4 STAINLESS STEEL 100 Out Sourced Component
FORM A FLAT WASHERS TO FIT METRIC BOLTS STAINLESS STEEL 100 Out Sourced Component
M3 Nylon Button Head Bolt Hex Socket Screw Assortment Nylon 20 Out Sourced Component
20 Series European Aluminum Hammer HeadDrop In M4 T Nut Slot STAINLESS STEEL 30 Out Sourced Component
M4*8MM Button Head Hex Socket Cap STAINLESS STEEL 20 Out Sourced Component

380V 400V 30A Dual Row 12 Terminal Electric Strip Block N/A 2 Out Sourced Component
1.5 mm Single Core Conduit Cable 6491X Blue & Brown & Yellow / Green N/A 2 Meters Out Sourced Component


